
 はじめに
このたびは、HIOKI Z5000 固定スタンド をご選定いただき、誠にありがとう
ございます。この製品を十分にご活用いただき、末長くご使用いただくために
も、取扱説明書はていねいに扱い、いつもお手元に置いてご使用ください。

 概要
Z5000 固定スタンドは、HIOKI LR8400/LR8401/LR8402 メモリハイロ
ガーを固定するためのスタンドです。卓上スタンドおよびパネルマウント金
具として使用できます。

 点検
･ 本器がお手元に届きましたら、輸送中において異常または破損がないか点検

してからご使用ください。特に付属品に注意してください。万一、破損ある
いは仕様どおり動作しない場合は、お買上店（代理店）か最寄りの営業所に
ご連絡ください。
付属品 :
固定金具 (2 個 )、固定金具固定用小ネジ M3X6 (2 本 )、支持足金具 (1 枚 )、
支持足金具固定用ネジ M3X6 (3 本 )

･ 使用前には、保存や輸送による故障がないか、点検してから使用してくだ
さい。故障を確認した場合は、お買上店（代理店）か最寄りの営業所にご
連絡ください。

 保守・サ－ビス
･ 本器の汚れをとるときは、柔らかい布に水か中性洗剤を少量含ませて、軽

く拭いてください。ベンジン、アルコール、アセトン、エーテル、ケトン、
シンナー、ガソリン系を含む洗剤は絶対に使用しないでください。変形、変
色することがあります。

･ 故障と思われるときは、お買上店（代理店）か最寄りの営業所にご連絡く
ださい。

･ 輸送中に破損しないように梱包し、故障内容も書き添えてください。輸送
中の破損については保証しかねます。

 Z5000 固定スタンドを組み立てる、
メモリハイロガーをセットする

Z5000
固定スタンド /FIXED STAND

取扱説明書 / Instruction Manual

Nov.  2018  Revised edition 3
Z5000A980-03  18-11H

JA/EN

壁に取り付ける場合
支持足金具は取り付けません。固定金具は必ず取り付けます。M4 ネジ 4 本
で固定スタンドを壁に固定します。( 下図 : ネジ穴位置寸法図 )

※ ネジは付属していませんので、市販の物をご利用ください。推奨するネジ
の長さは 8 mm 以上です。

固定金具

本体

支持足金具

傾き 30 度にする場合

突起を穴に
あわせる

裏面

正面

傾き 50 度にする場合

裏面

正面

M3x6 
ネジ

M3x6 
ネジ

2

3

3

1. 本体裏面に支持足金具を合わせ、正面からネジを差し込んで
固定する。
･ はじめに 1 箇所仮止めすると、作業しやすくなります。

･ 支持足金具の付け方でスタンドの傾きが異なります。

2. 本体正面にメモリハイロガーをセットする。

3. 本体側面の固定用穴に固定金具の突起を合わせ、外側からネ
ジを差し込んで固定する。

1
5
0

1
8

10 286

( 単位 : mm)



Warranty
Warranty malfunctions occurring under conditions of normal use in 
conformity with the Instruction Manual and Product Precautionary 
Markings will be repaired free of charge. This warranty is valid for a pe-
riod of three(3) years from the date of purchase.  Please contact the 
distributor from which you purchased the product for further informa-
tion on warranty provisions.

 Introduction
Thank you for purchasing the HIOKI Model Z5000 Fixed 
Stand.To obtain maximum performance from the product, 
please read this manual first, and keep it handy for future refer-
ence.

 Overview
The Z5000 stand is a fixed mounting bracket for the Hioki 
LR8400-series Memory HiLoggers. It can be used as a desk 
stand, or for panel wall mounting. 

 Inspection
• When you receive the product, inspect it carefully to ensure 

that no damage occurred during shipping. In particular, 
check the accessories. If damage is evident, or if it fails to 
operate according to the specifications, contact your dealer 
or Hioki representative. 
Accessories: 
Fixing metal (2pcs), M3x6 screw for Fixing metal (2pcs), 
Supporting metal leg (1pc), M3x6 screw for Supporting metal 
leg (3pcs)

• Before using the product the first time, verify that it operates 
normally to ensure that no damage occurred during storage 
or shipping. If you find any damage, contact your dealer or 
Hioki representative.

 Maintenance and Service
• To clean the product, wipe it gently with a soft cloth moist-

ened with water or mild detergent. Never use solvents such 
as benzene, alcohol, acetone, ether, ketones, thinners or 
gasoline, as they can deform and discolor the case.

• If the product seems to be malfunctioning, contact your 
dealer or Hioki representative.

• Pack the product so that it will not sustain damage during 
shipping, and include a description of existing damage. We 
do not take any responsibility for damage incurred during 
shipping.

 Assembling the Z5000, and Setting the HiLogger

Z5000
FIXED STAND

Instruction Manual
Nov.  2018  Revised edition 3
Z5000A980-03  18-11H

EN

Wall mounting 
Supporting metal leg will not be used. Surely fix the fixing 
metals to the bracket. Mount the bracket to the wall by insert-
ing the M4 screws through the bracket mounting holes. (Fol-
lowing diagrams: mounting hole templates)

∗ M4 screws are not supplied.  Please use commercially 
available M4 screws. 
(Recommendable screw length: 8 mm or above)

Fixing metal

Bracket

1. Place the supporting metal leg on the backside of the bracket, 
and insert the screws from the front of the bracket.
• To make it easier, fasten a screw tentatively at first.
• The stand angle varies depending on fixing way of the sup-

porting metal leg.

Supporting 
metal leg

2. Place the HiLogger on the front of the bracket.

3. Put the projection of the fixing metal into the hole on the side 
of the braket, and affix it using the screw.  Do it on the other 
side.

Inclination angle: 30 degree

Put the projec-
tion into the hole.

Backside

Front

Inclination angle: 50 degree

Backside

Front

M3x6 
screw

M3x6 
screw

2

3

3

1
50

 (
5.

91
”)

18 (0
.7

1”
)

10
(0.39”)

286 (11.26”)

Unit: mm (inch)


	Z5000
	FIXED STAND
	Instruction Manual



